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9 HR-RERNEEE TERE |LRTLRE (TAREHS 54 —REARIE |BREE R2.12.18| R3.3.15/ 1,843,000/ 1,660,000 12 B {E 1 BE fifi4% 1,602,000
8|l BR SRR |t BHTEHY
R RERNEEE @I | RETRBE |TAER: B4 —MEEARTIE (MIESBITHIE | R2.1223[ R3.3.19] 1,953,000 1,890,000 12| RAEHIBRM#51,707,0001
99| g5 3R 5 435S BT T 6
Az RRGHEREIE REHAKRE | ARENRE Ba |HEIE ME/KIFE| R32.19] R3.4.26| 3,158000( 3,090,000 8| I AE %I PR M #52,729,000
100 IV THEHSHY
101 EEIEERIEREIE EE G EE N2 E 4 —R+RITE | EHEERH R3.224| R3.3.30 1,811,000 1,780,000 12| RIE B IR ME#51,625,000M
- LERFEEE BXRE |LRHLXRE |TREHRE —f% [ ARIE MESIHE| R3.3.12| R3.11.30[ 12,721,000 11,230,000 =K HIFE#4&11,178,000M
102\ s ey B T H(E DY) |~ EBET THEHHY
103 TIRAEFEEERISE REDTIRA |[BHIREE 4 —ltTARIE (HPEER R3.212[ R3.3.29] 2,703,000 2,487,000 12| RAEHIFE M 452,364,000
ET
SINEL/NTamEMKE [REHRAAE |EMEHR 54 — i+ ATE |ME/KIFE]| R2.11.27| R3.3.26] 1,891,000 1,850,000 12| &% 1K I PR {fi#% 1,639,000
104|685 T HEE
105 E%n%ﬁ“‘y?zqﬂ OZHKES fﬁigrﬁﬁﬁm BMERER 54 — BT ARIE (B E R2.11.27 R3.3.26] 1,691,000] 1,640,000 12| 1K PR {fi#% 1,461,000
T
SH2EKI/N2AEIRBEMK (REXTLEEAT [BEMRERES B4 —BEARIE |BavkD R2.11.27 R3.3.26] 1,526,000] 1,490,000 12| &% K PR {fi#% 1,319,000
106|l=gnr= A
107 BEKBERFOGIE-HREBK ([REXTLEEET [EMREHES —f% [ ARIE WEKIFEE| R2.12.11] R3.5.27| 9,666,000 9,500,000 3 | B {5 il PR {fi #% 8,409,000
BEDESO /HJF;EJJ:I$ Ik THIEHHY
BEXKREREGLE-HREK [ZEHAANE |EMREHR B4 — BRI E |BAKIFFE R3.2.3] R3.5.27] 2,205,000] 2,160,000 12| B EHIFEf@FE 1,917,000
18| % KA T S EBEETH HEE THEHRHY
BEKBERFGIE-HREK [REMTEKE BEMREHESR —f [—BEKRIZE |BREHE R3.2.17] R3.7.26] 9,424,000 9,200,000 12| &% K i BR {fi 4% 8,253,000
109\ E I8 At L T3 THEHRHY
BATEIEEFRADRER R FN | REHBARET |[BRtEEY (B4 ERIE EREIME]| R2.10.14] R2.124] 2,648,000f 2,600,000 12| &% & Hl PR {fi#% 2,352,000
MOl REE 52— RE XM
LHEFESMMLRETIS REMILEN |LEthEE (B4 AEERER |ALBREE R2.5.27] R2.7.31] 1,614,000] 1,580,000 8 B 15K il PR fifi#% 1,432,000
11 T Bt P Ha— BI=
2 b EAKBIIEISE %iﬁﬁirﬁﬁﬁm Eﬁﬁiﬂﬁty B4 —MREARIE |MWEFEE R2.8.28] R2.10.30] 2,649,000 2,310,000 12| &% & PR i #% 2,299,000
nB -
13 g%b%@?ﬂﬂ%i(é@)ﬂﬁzﬁl z?skﬁ};l{fl]icm 2R B4 —REETE (MEKIFEE| R29.18] R2.11.30] 1,458,000] 1,380,000 6 | 5% 1E HI PR {ffi4#% 1,303,000
ZH
14 E;*E’TEFMIZEE*H%I$(%G) REMILEEAT |SEEFER B4 — BRI AIE BaFY R2.5.13] R2.8.12] 5,500,000 5,350,000 12| &= 1K I R {fi 4% 4,776,000
2 =H
SEHEBRMMEHRSE LdE [REhEER (XEEER B4 —RETARKIE B E R2.10.7] R3.3.12] 7,331,000 6,410,000 12| &% 1K R {fi#% 6,379,000
R ERETE =H THELHY
S EBRMMERESE UTEE [REhILEE (XEEER 54 — Bt AIE |BaFY R2.9.30] R3.1.22] 2,036,000 1,870,000 12| A HI PR {fi#5 1,762,000
6| mgmrs =[H
"7 REMIUNEEPTERESE) [ZEHRER [XEEE B4 MEERAR (WA TFav R2.11.6] R3.2.1] 2,449,000/ 2,380,000 8| IEHIPR ffi+%2,187,000M
EHRRESIELISE HA BI%E
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AT (W) B e N ARC T =T o nags | T
No. 24 o HLER guomE| TEIER ERLEE 258 | $=A FEMIE | 2L HE Pt e
» MIIEMETHLFEIELIE (REHREE |SULEF 54 AEERER (WA >Fay | R2.11.11 R3.2.1[ 1,780,000 1,700,000 8 B {5 il PR {fi#% 1,601,000
8 A BIs R E L
ng%ﬂiﬂﬂ.‘ﬁl’i%%’ﬁiﬁEE&%I%@E %fﬁg}fﬁﬁm AL BFER — g —fREETSE (THEXR® R2.11.27| R3.5.24| 60,762,000 59,800,000 3(FAE E 2 h+5 54,964,000
) =14
10&%?5731:#@%%%3&1@1%&% TRMILHEAT |SLEE —#2  [AEEEEZ [MA>Fay | R2.11.27] R35.24] 22,276,000 21,800,000 5 | 2% {5 il R fi#% 20,116,000
20\ R BI=E RREEFR
121 ?fﬁﬁbﬂ%ﬂ%%ﬁﬁﬁﬂﬂ@‘l$(@é %ffggfﬁﬁm XAbBAEE —hHg BERIE BABET R2.11.27| R3.5.24] 20,347,000 19,960,000 7| Ex 1% | B M 4% 18,252,000
K g
PHEAMMEREEE AFHE |ZEHLEET | 3XEEFER B4 —MBEBETE |FHESXW R3.1.13[ R3.3.29 8,358,000 8,190,000 6 | B & il R fi#% 7,517,000
12| e Ts =HMK
BREHETAF U RAEREE (RETHEERT [XEEE B4 —MREBETE |FHESXW R3.2.12( R3.3.24 1,476,000 1,440,000 6 | B 5 il PR {fi#% 1,316,000
128 zp3)Ts BT 15 3 P
RENIUKEROTETRER) (RERHREE [3EMR BE |[AEBE®%R (WA 73V | R3324| R36.30[ 5381,000 5250,000 8| &= 1E I BR fii#% 4,860,000/
124\ e e TRORLE RS (1A BIE TR L
LHEPRABRREARBTEMER |ZEFHLEEE ([XERR—VR [—i |[—BEEIE(XKEIHH- R2.8.28] R3.7.30] 294,545,000] 292,000,000 SIEEAEMIE 268,844,000
125 BIEESE LA BEg FHEE- JV R EEHY
TIFERER
HREITER
i LHEPRARBEARTEMER |ZRTLEN [UERR—YIR |- |[ERIE BHEFEL R2.9.4] R3.7.30] 49,506,000 48,800,000 K il BR {fi 4% 44,750,000
blisT=(@aRRE) TR =
127 SFHRIE-ZE2XMEFER [REHTEARE |KEI%ER —f% [—MERIE [BT7RER R2.6.17] R3.3.12] 9,450,000 9,380,000 5| &K &R fi#% 8,325,000
) TEICESKEEKETE (R (7k3#) THAGEHASR Y
BN RETHAREKERBEISE [(REMKEFET [KEIFR —f [ RI= (LRI | R27.10] R2.12.18] 13,040,000 12,900,000 7| R IEHIPR{@#& 11,478,000
128 A (KiE) D=y dJ M%)
&k EERT
199 HITEERKERRIS REMEHA |[KEIFER 54 —E&ﬁi*l$ W7 AER R2.7.3] R2.12.25]  2,680,000] 2,600,000 10| &% & il PR i #% 2,349,000
BT (k&)
ZREXBERCIERIX) |ZEhEAAR [KEIHERE 54 —EARIE MEKIHKE R2.7.3] R2.10.16] 4,370,000] 4,300,000 10| &% & i PR i #% 3,818,000
130|RRZEXMERE)TEICHES |EH (k&)
KEERIETE
REMREBELRBEPFIZEIZ |REFREM [KEIHE 54 — It ARITZE|ILEERRERT | R2.7.29] R2.11.13] 5,300,000 5,200,000 10| &% 1K I BR {fi #% 4,669,000
131|#5EKERRIE (k&) =iy 43 M%)
=R EZERT
139 RERE—HEREDEZREKE |ZRXTHREM [KEIHF B4 —MREIARIE [HM7REX R2.8.19] R2.12.25] 3,060,000] 2,980,000 10| & 1K I PR {fi 452,677,000
REDNTEITHIKEEHE (Ki&)
Lt REEKERRISZ(FD) |ZRTLEN [KEIFF —# [ RIFE[F7I7ORT R2.9.18] R3.1.29] 56,220,000] 55,700,000 10|5f & & #4f#% 50,137,000
133 7 LE F R (k&) L6
134 gﬁ;’%k%i&k%&w#ﬂﬁl gskfﬁﬁaicﬂn pISERRE B4 —E&“ﬁi*l$ ®WEKkIFE] R2.109] R2.12.25] 5,340,000 5,200,000 10| &% 1K I PR {fi 4% 4,693,000
BE (7KE)
BAETNERRAEKERBIE [(REMFIAT [KEIFHR —#% [\ ARIEZ[IuEREETI> | R2.109] R3.2.15] 14,270,000] 14,100,000 7| R AEHIPE M #& 12,551,000
135 fth (k&) iy 4§ M%)
MR EZERT

BRA)—EXR(IHE)xs
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No. 24 o HLER guomE| TEIER ERLEE g3 E | =R FEME | RHEE Pt =
136 HREMRNEKXKERRIE TRTHRER [KEIHKE 54 —F:l%ﬁ:t*l% B7RER R2.10.21] R3.2.26] 5,110,000 4,980,000 10 | B K I PR fi4%& 4,448,000
(k&)
137 HAMXEKERBRIE(ZN2) |ZEHLERT |KEILFER — g —Eﬁﬁjﬂkli BILEEE R2.10.30| R3.3.15] 35,700,000 35,300,000 6 |FHE R ML 31,764,000M
FELLHE (7KE)
128 tEHREKEHEIE(ZFNDI) ??&Erﬁﬁiﬁm KEITHHEE — e —E&E:tx1$ [ENEFES R2.12.11| R3.3.22| 19,400,000] 19,000,000 6 | 5% 1K il BR {fi4% 17,088,000
E12 (JK1E)
FT-EHRIEMANEKERR (ZEHHFIAT |[KEIHR —fE  [—REIRIZE |W7RER R2.11.6] R3.2.26| 19,400,000 15,280,000 K KRR 4% 13,697,000
1% A (KE)
140 WERTHARKEHRISE %’é;lmffﬁj(i?ﬁm KEIHR —h& —ﬁ§“§:t7|<1$ WEKIT#E | R2.11.13] R3.1.29] 15510,000] 12,100,000 6 |5 {E | AR i 410,753,000
b (KE)
" mHEEhNEKERRISE ﬁgsfﬁfﬂ%ﬂn KEIEER — g —ﬁ§“§:t7l<1$ 7(;7*)7:/%‘- R2.11.18] R2.3.12| 35,750,000] 35,500,000 6 | B 15 il PR 4% 31,763,000
b (KE) Ly
142 FERFE2KEHhEKERRIE ?@ﬁﬂexm KEIHR —f  [—MREARIF [HWMEKIHE| R2.12.11| R3.3.26) 14,420,000( 14,300,000 4| S K HI R+ 12,610,000
BE
FHIEHRNEKERRISE [REXTHRIAT [KEIFE —f [ KRI=(ILEEESRTI | R3.1.15] R3.3.19] 15,010,000 14,800,000 7 B HIFE45 13,192,000
143 HA (KiE) CZTFILY
&k E T
144 AE-EEMBAEKERET (REXTEFL [KEIFE —fE [ ARIE |REHHEHR| R3.1.15] R3.3.19| 14,840,000 14,700,000 6| =& SRR & 1,3007,000
= BT #h A (KiE) LR HIRFT
145 tEHREKERBEISE(ZFNDS) ;;‘“rik‘glgrmﬁm KEITFER 54 —ﬁ%ﬁ:t*1$ BLEEE R3.1.20] R3.322] 7,380,000 7,300,000 10| B EHIFEffi#% 6,422,000
1R (KiE)
146 hiEMABEKERBR IS TR ER [JKEIFE 54 —E&E:t*1$ A= RKE R3.1.27] R3.3.26] 2,740,000] 2,695,000 10 &= 1K IR fifi4% 2,387,000
(k&)
147
148
149
150
151
152
153
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